| Efficiency vs Dxy |
0.5
<

S : : : : : : : : :
LA

> : : : : : : : : :
o EARAARREEREFACEEERE: SRR EERERRE R TR TTESERTEEE e (REEREE
C0'4 : : : : : : : : :

(71| RN SIS SR OEE YO FENE SOOES Sy e
° __F
O e A S S S
0252— ------------------------------------------------------------------------
O
L] ot O SO St
oy TS IOt SUCSS e SOt S
1] R S O e SOtess S SOt A

OJ-'\-Q IIII;IIII;IIII;IIII;IIII:IIII;IIII;IIII;IIII;IIII

09 56-156-10 =5 05 10 15 20 25

TP dxy (cm)

KEt_TTorgimat
KFIt_TT_JanUpdate-noErr
kFit JanUpdate-statErr
&F!t JanUpdate-systErr

—a— D

_ —— D

| Efficiencyvs Dz | |—=—1B
—_—D

100004
£2229
33335

Fit JanUpdate-bothErr
%0.5 — &

T R S PR R -
2 A A

Boaf o

o E : : : :

$.35 prorereeee P P A A

o : : : : :
e e

e
02 gy
0.15

530 =2 Y 10 20 30
TP dz (cm)



	Contents
	Page 1


